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POLITICAL SCIENCE
PAPER - I1I

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

P
[

Who among the following said that “post-behaviouralism was a genuine revolution; not a
reaction; a becoming, not a preservation; a reform, not a counter reformation” ? '

lp' [
(1) James Bryce (2) Charles E. Merriam

(3) David Easton (4) G. A. Almond . y
{ °,
s X |i
Who among the following said, “we can not flféd our“values in the way we remove our
coats’ ? '

(1) Leo Strauss / Alfre%E obban
(3) Jean Blondel David féton

4
Who among the following characterixsec'l‘ early liberalism as ‘possessive individualism” ?
(1) F. A. Hayek \ ? © (2) Robert Nozick

(3) C. B. MacPherson ™ (4) Rawls

i,

Given below are ’[W(; stat ments, one labelled as Assertion (A) and the other labelled as
Reason (R). Identlfy the correct answer.

Assertion (A) 4 F. A. Hayek portrayed state intervention and collectivism, even in their
_moderate forms, as inevitably leading to an erosion of Liberty.

Reason (R) : fie isa supporter of laissez faire and opponent of Keynesian economics and
he welfare state.

Codes :
(1} Both (A) alnd (R) are true and (R) is the correct explanation of (A).
(Z)Ik 4 Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) : (A) is true, but (R) is false

(

4) (A) is false, but (R) is true

N
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5.  Which one of the following statements is not true ?
(I) Marx drew distinction between “ideology” and “science’.
(2) Napoleon denounced ideology as cloudy metaphysics that ignored history and reality.
(3) de Tracy coined the term ideology.
(4) Daniel Bell talked of “ideology without an end’.
pe
6. For whom, “ideas” and not the “material conditions of production” are the effective causes
of revolution ? { é
(1) Karl Marx (2) Lenin (3) Engels (4) | Stalin F
7. Which of the following statements is false with respect to Plato’s ideas ? ¢
(1) Division of functions does not rest on difference of aptitu{de. (
(2) State is assumed to be merely individual lﬁ';it large.
(3) Athenian women were not allowed to ;;farticipate irll politics.
(4) Ignorance and incompetence of politio‘ians is Te cause of democracy.
8.  Which of the following is not an expression of the constitutional rule of Aristotle ?
%
(1) Rule in public interest “2) A lawful rule
(3) A Government of willin.% qs‘ﬁbj.ects (4) Inconsistent with the dignity of the subjects
A
9.  Who of the following said that felicity is “continued success in obtaining those things which
a man from time to time desires” ?
[
(1) Bentham " (2) {+].S. Mill (3) Hobbes (4) Rousseau
10.  Who of the f‘olﬁwing notes the existence of legislative, executive and federative powers of
/ the state ? 4N
(1) Hobbes f "(2) Locke (3) Rousseau (4) J. Bentham
11. Which of the following is not an idea of Rousseau ?
(1) A thinking man is a depraved animal
(2) W Science is the fruit of idle curiosity
(3)  Philosophy is mere intellectual frippery
(4) General will is the sum total of wills
|| ; Fapert
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12. For J.S. Mill which one of the following is not true ?
(1) Pleasures differ in quality
(2)  The felicific calculus is absurd
(3)  The principle of utility is the final end of life
(4) Liberty consists in doing what one desires
13. For Karl Marx who among the following is not a Utopian socialist ?  a
(1) St. Simon (2) Proudhon (3) Fourier (4) Engels : .'I"; ‘
14. Given below are two statements, one labelled as Assertion (A) and{ other labelled as
Reason (R). Select the correct answer from the codes given below : d
Assertion (A) : For Gandhiji, satyagraha is not identical to passive resistanée.
Reason (R) : Satyagraha denoted a legitimate,smeral anEi truthful form of political
action by the people against t/])d Brutalestate power.
Codes : ,.'f I
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is n;)t the carregt explanation of (A)
(3)  (A) is true, but (R) is false ﬁ? 3
(4) (A) is false, but (R) is true 44 { v
| « [ .
15. Who coined the slogan “No control, no co-operation” ?
(1) Mahatma Gandhi  «2) y J. Nehru (3) Aurobindo (4) Subhash Bose
16. What is the correct s!ei:quence of the following characteristics of political development ?
(a) Capacity ' {(b) Equality (c) Differentiation
Select the correct answer from the codes given below :
(1) (a),-(b) arlel (c) (2) (b, (a) and (©)
‘B) © @ and‘fb) (4) (), (b) and (a)
17. What is accord.iing to David Easton, the correct sequence of the following regulatory
meghanisms ?
(a) Socio—cultllral norms (b) Communication channels
(c)ll't Gate-keeping at the boundary (d) Reduction processes
Select the correct answer from the codes given below :
(1) (), ©, () and (d) ) (© @ (b)and (d)
(3) (), (b), (c) and (d) (4) (@, (), (a) and ()
vours AN ; —
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18.

19.

20.

Match the following and select the correct pairs :

Q' @and @ @

List - I List - II
(Authors) (Books)
(a) Arend Lijphart (i) Comparative Federalism
(b) Thomas Hueglin (ii) Comparing Federal System
(c) Giovanni Sartori (i) Patterns of Democracy : Government forms and
performance in thirty-six countries
(d) Ronald L. Watts (iv) Comparative constitutional Engineering : An fnqulry into
structures, incentives and outcomes '(
Codes : { r
@@ () (o (d)
1 @) @Gv) @ () : :
() Gv) () @) () y { ~
@) ) @ @) @) b ‘
@ @ (@) G () / |

|
Which of the following statements is not correct ? !
(1) Political culture is a set of basic political attitu

(2) Political culture cannot be empirically studied. ... ¢

(3)  The study of political culture foctises on attltucfe of people and their likely effects on
politics. <, | §
(4) Political culture has a cc]nlpamon approach i.e. political socialisation.

In which of the following countries the residuary powers rest with the states/units ?
(a) U.S.A. { (b)” “India (c) Switzerland (d)
Select the correct answer ffom the codes given below :

Codes :

Australia

() and (d) (3) (a) and (d) 4) (@) (c) and (d)

y
21.  Which of the folllgwir;g statements are correct ?

(a) ‘Cabinet is an extra-constitution institution in the United States of America.

(b) " Itis simpl}f an advisory body.

(c) Itis collectively responsible to the congress.

(d) J The members of the cabinet quite often take part in the congress debates to defend the

. policy of the Government.

Select {he correct answer from the codes of given below :

(1) ) and ( (2) (a) and (b) (3) (b)and (d) (4) (a), (b) and (d)
II\HIIHI\ ; —
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22. Direct democracy is not possible in the modern times because :
(1) People are indifferent towards the affairs of state.
(2) Political parties are opposed to it.
(3) Propertied classes oppose it.
(4) Of the practical difficulties posed by the size and population of modern state.
p .
23.  Who among the following has given ‘sleeping dogs’ theory of democratic culture ?
(1) Lucian Pye and Robert E. ward f . ,11
(2) James S. Coleman and Myron weiner
(3) James C. Charlesworth and F.W. Riggs : , N
(4) Almond and Verba - { .5'
/_/ #
24. Who among the following has coined the ternig ‘The, stlck’ ‘The deal’, “The kiss’, for influenc-
ing the decisions ? [
(1) E.E. Schattschneider Keith !?ﬁdmg
(3) Robert Dahl (4) Kate Millet .
A (
25.  Which one of the following isha?haracter of “Co-operative Federalism” ?
(1) A spirit of competition-and rivalry between the centre and the state.
(2)  Co-operation secured on the basis of strong centre.
(3) Decentralizatiod and more state responsibility.
(4) A spirit of co-operation among states.
"4
26. ; Which one of the*following practices is employed in the American legislative process in order
' to delay a partiCLﬁZ\r legislation ?
(1) Gerrymandering (2) Filibustering
(3)" Log Rollin? (4) Spoils system
II'.
27. Thepower that makes the Supreme Court of America the third Chamber of the legislative
is > o
(1) Original (2) Appellate (3) Advisory (4) Judicial review
|| 10 papeca
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28.  Who among the following has defined “political power” as the “relationship in which one
person or a group is able to determine the actions of another in the direction of the former’s
own end” ?

(1) Bertrand Russel (2) Habermas (3) Morgenthau (4) David Easton

29. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Bureaucracy is an important feature of all democratic governments.
i

Reason (R) : Bureaucracy is an ancient institution. ;
Codes : {
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)f f
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false . .

(4) (A) is false, but (R) is true £ -

. L E
30. Given below are two statements, one is labelled as Assentlon (A) and the other labelled as
Reason (R). Identify the correct answer.
Assertion (A) : Comparative politics is a sc,'lence 0 Oll'hCS
Reason (R) : Comparative politics relies on emp ‘?él method of study.
Codes :
(1) Both (A) and (R) are true and Q() is the correct xpfanatlon of (A)
) Both (A) and (R) are true, but ER) is not the correct explanation of (A)
(3) (A) is true, but (R) is fal_se*ﬁ
(4)  (A) is false, but (R) is true/

31. Match List-I with List-II and identify the correct answer from the codes given below :

Listdl = List-II
(Approach to study indlan Politics) (Name of Book and Author)
(a) Historical Approach (i) Parliament in India, Morris Jones
(b) Institutiofial Approach (i) The Integration of Indian States,
F 4N V.P. Menon
" (@ Legal Appt{yacfi (iii) Themodernity of Tradition, Rudolph and
' Rudolph
(d)  Politico-sociological Approach (iv) The Republic of India, Allen Gledhill
Codes : |
@ (k) () (D
MY, 6 @) (@ (v
(2) =@ @@ (Gv) (i)
G @ (ii) (iv) (i)
(4) (i) @  (@{v)
vours AN 2 Faper-
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28. fr=fafaa 4 @ feem  gorifas wifsd’’ 1 T8 deiy & ®9 § gftafoa feen & foad = safeq =
g qeadl & RN % STTER TH i HRETE &1 (9o w9 § gaef g § 2
(1) ¢S @ (2) T (3) TS (4) Sfas e
29. = & e ey MU ¥, T 1 AU (A) S TH 1 qh (R) Fel T AR ey T 3 6 4w
IW T =TI HINT :
AURT (A) :  Tnwmel, Ift FAleheiiAehT TIHRI i Hecaqol forered |
qeh (R) : AIHTIMET Tehr YT+ HEe B |
% : L
1) (A) 3R (R) IH A ¥ 3R (R), (A) FT T&l TTHH T | { r
2) (A) 3R (R) I T ¥, WG (R), (A) FT Tel TT<HH0T & |
(3) (A) ¥ T, T (R) 3T9A | :
4) (A) 39 €, T (R) 9 B {
30. 9 T FUA fgu T €, U A AUwmYT (A) aﬁx/@%ﬁaa"(mww%mﬁwﬁw
HIT : |
AURIT (A) : TS TSI, TSI _ch"lljclsll"l g
e (R) : GRS EIRH awm'rraﬁa?ﬁ Fﬁwﬁﬂf{aﬂ‘cﬁ%l
%<
1) (A) 3R (R) I ¥ T 3R (R), (A) FT T TTLTHRA -
@)  (A) 3R (R) 3 T ¥, =g (R)}A)waﬁw%maﬁr%u
(3) (A) WA & T (R) A W [
(4) (A) o9 R, TG (R) TAY
31. -1 get-11 § GAfea i i) 1= fou Te 2f &1 gerad 4 98t 3T H1 9g=H Hig
g1 ¢ HeAt-11
( VT e ohT STeaam (TR AR @ & W)
T oh SUTTH )
(a) e Surm () feame affw e, @i s
/ (b) T ST (i) TS 3eRM &1w sfeem wed, Al o9
() faftres sy (i) T3 AT oifw JShvM, Felch TS Feloh
GRS RINER SIS ED (iv) fe fafsas a1t sfean, wod oefea
- YT .I
E'Ef:
L (@ (b)) (9 (d)
(1) W@ (i) (@) (i)
(2) @ (@ (v) (i)
(3) (i) (@) () (111)
(4) () @) @ ()
roxss [ AN 1 Papern
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32. The Constituent Assembly of India comprised of :
(1) 292 members from British provinces, 4 from Chief Commissionaires and 93 from Princely

States
(2) 294 members from British provinces, 4 from Chief Commissionaires and 91 from Princely
States
(3) 291 members from British provinces, 3 from Chief Commissionaires and 95 from Princely
States
(4) 292 members from British provinces, 5 from Chief Commissionaires and 92 frpm Princely
States
rd
33. Match List-I with List-II and identify the correct answer from the codegrgiven below:
List-I List-II
(Name of Philosophy) (Directive Principle) Y
(a) Welfarism ()  Promotion of cottage industry [
(b)  Socialism (i) Better healthr and living staridard
(¢) Gandhian philosophy (iii) Promo}ign of international peace and security
(d) Internationalism (iv) Equa}Jlr pay for eq1_!lla1 work
Codes : f 1 |/
@ © © @ | /
L @ @) G @G »j
(2) @) (@) @ @) et
@ O @ @ G L (
@ @ ™ o @ «f
| Y
34. In which part and article 8f the Constitution of India, Fundamental Duties have been
mentioned :
(1) Part IV, Article 51 (2) Part III, Article 51
(3) PartIV (A), Article 51.(A) (4) Part III (A), Article 51 (A)

35. Given belowuare two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). C oose the correct answer using the codes given below :

/ Assertion (A) : | rdinances provide minority governments with a useful device, but one
hat is now increasingly difficult to convert into legislation once parliament
has covered.

Reason (R) : | Recent coalition governments have used ordinances to avoid debating
| legislation with their partners as much as with the opposition.

Cades :

(1)Ik 4 Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) = Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

vous [[[HHITHATRANII
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32. YRA & Giayu™ w1 f=fafad &1 e w2 a6
(1) fafew giai & 292, =% HHTR & &0 9 4 3R T @G 9 93 964
(2) fofew idi & 294, <% FHTR F &4 F 4 IR T F@m=i @ 91 g
(3) fafew idi & 291, =t® FHHTR & &1 9 3 AR I Fam= @ 95 9w
(4) fafew oidi & 292, =® HHTR & &1 9 5 AR T A= § 92 989

33. G-I %1 G-I § Ffem FT oK 9 faw T 52 # wemm 3 '8 W F e Fi

-1 Helt-11 {
(g9H o1 AT ) ( Frdvrer fagia) f §
(a) HAER () TR TN H AL
(b) FENER (i) SER TR R e
(c) et g (iif) SIS i, SR & 1 ST
d) sARiftgaamEms (iv) FHH @ﬁ’ Sl A CLE]
%< : ..lf . |I
(@ () () () . /
1 @ @) G () \ ‘./
2 @) @) @ ()
G) @) (@) (v) (i) -
@ @ v 6 G 4 (
« 1
34. R % SEEH % G a ok Yo ¥ Hifee wed o Seera TR T 87
(1) 9LV, =51 (2) W III, 3T9=s5¢ 51

(3) WMV (F), 3T3%5% 51 () (4) W (%), 3TT8% 51 (F)
i
35. ﬁ%aaﬁmﬁqjq%,wﬁiaﬁmm(A)aﬁxwﬁﬁ(wmw% = 3T T Fe 1 gE
mﬂﬁwwﬁaﬁﬁm:
FRTRAT (A) : AR YA H1 TR H1 STA W FEH Hd €, T WU T *F Y& T
[ R 3@ faum & &9 ¥ o1a ufiafdd 3 S §9 9 g 2|
e (R) : BT ! TSEEA WIHN A ST TR & wy-ay foue & @iy ot faum w
orefaere @ s % fau steaRsl w1 SwE foeen ®)
E(_Ed‘.: |
) (A) 3R (R) I T § 3R (R), (A) FT TEl TIEHH T |
(2) ¥ (A) R (R) A T , T (R), (A) FT Tl TEF T 2|
) (A) T E, g (R) EA B

(A) 39 §, T (R) T B |

(4)
vous [[HHITHATR RN

p—
g1

Paper-III

www.examrace.com



36.

37.

38.

39.

40.

1
yous [

(
(
(
(

Under which article/articles, the High Courts and the Supreme Court can issue writs ?
(1) Articles 44 and 45 (2) Articles 123 and 213
(3) Articles 32 and 226 (4) Articles 53 and 153
Identify the incorrect pair.

(Name of State) (Demand for New State)
(1) Gujarat : Saurashtra f
(2) Uttar Pradesh : Gorkhaland { ’
(3) Rajasthan : Marupradesh | [
(4) Maharashtra Vidarbha d

L f
Which of the following Committee voiced concernabout ‘Criminalization of politics and
politicization of criminals” ? /,/ ” |
(1) Tarakunde Committee (2) Il.éachhlar Cclfmmittee
(3) Vohra Committee @ | Indrajiet Gupta Committee
The study of state politics as an autonomous discipline has been primarily an outcome of :
(1) Rise of regional parties & “(2) Rise of {oter’s turn out
(3) New local governance s_ysﬁnﬁ: 4) Non—palrty political movements
Y4
Match List-I with List-1I and_ select the correct answer from codes given below :
List-I | List-I1

(Concept) i' { (Thinkers)
a) Multi-culturalism (i)  Friedrik A. Hayek
b)# Post-mod¥gism (i) Bhikhu Parekh
c) Libertarians im | (iii) Amitai Etzioni
d) Communitiianrism (iv) Michel Foucault
Codes : .

@ (b (0 ()
@), 6 @) Gv) ()
@ 5@ @) @ G
@) @) @ @
@) Gv) (@) @ )

(
|

—
(=)}
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36.

37.

38.

39.

40.

frefafad a8 o =e/ ST=9dl & AdTd Sed <y iR Seadaq =rarerd ekt SR X Hehd
g2
(1) T3 44 3R 45 2) ATHT 123 3R 213
(3) AT 32 3R 226 (4) STI=T 53 3R 153
AT I T TEEM ST |
(T /T A ) (9T ST i HITT) {
(1) T ;R ¢ s
(2) W YW . TREE | f
(3) TSN &YW
(4) WERE forgsd
W@ﬁ@%ﬁ%‘ﬁﬁ%mﬁ%ﬁ@aﬁ%%’%aﬁﬁﬁm
IFd A ? £ I.'
(1) dRFTS WA 2) | W‘i‘;ﬁ
(3) dreu wfufa (4) ' ggsita et wiHfa
Wwémﬁmﬁmﬁmwwwﬁquﬁmw%:
(1) & el %1 35 - ﬁ.i' (2) waeE # 9fs
(3) % T I FaE __1 I @) Tr-cofte aeHifas sfce
-1 1 -1 § Fafaq HI i 7 o 70 el 1 Fersrd § |/l 30 H1 T4 BT
g1 ‘: J{ Te-11
( HeReat) (TeaeR )
a) = Tg-TThdETT @) el T gEh
) W—Wﬁﬁjﬂmﬁ (i) g e
0 wewEEE| (i) T sfesTEr
d) "HEIEER (iv) TEHA FEHR
T |

L@ /@ @
D0 @ G ()
)G (v) () ()
3) () () () ()

i (it

iv) (i) @

(i) @) ()
(AR R .
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41.

42.

43.

44.

Which one of the following pairs is not correctly matched :

(Authors) (Books)
(1) S.M. Lipset : Political man : The Social Bases of politics
(2) Lenin : Neo-colonialism : The highest stage of Imperialism
(3) L. Anderson : Transitions to Democracy
(4) Charles Tilly : From Mobilisation to Revolution {
rd

Who was the Chairman of the inaugural session of constituent assemb_l}! 4 f
(1) Dr. B.R. Ambedkar (2) Dr. Rajendra Prasad 4
(3) Dr. Sacchidanand (4) Sardar Patel { .’;

" A
Which of the following are statutory bodies ?.-*"Ir , I'I
(a) University Grants Commission f \ 'IJ
(b)  Union Public Service Commission {é y
(c) National Commission for Human Rights f g
(d) National Commission for Mir&egrities I
Select the correct answer fro_g;t the c.odes given below :
1) @and®) @ Gand© @) ©and@d (@) (@) (© and(d)

{ |
For the First time the communist party of India came into power in the state of :

(1) =~ West Bét{gal (2) Tripura (3) Kerala (4) Goa

a
Which one of thf following rights was recognized by the Supreme Court in the Selvy Case

45.
Judgement (2010) ?
(1) ' Right to Mental Privacy
(2)|"- Right to purchase property in Jammu and Kashmir
(3) ‘r Right to form pressure groups
(4) NOTA (None of the above)
|| s papeca
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41. Trafafed & & aF-w g gafad T& 82
(@& ) (I&F )
(1) W fade . offafera 87 : K 9 o9 % gifdafesd
2) dfH : fra-siefrafesy ;. <t sRTR =S Afh sHfiafasq
(3) TA. TSEA : SO E < SHIshH!
(4) e feoft : IR ERIESNEICRICIRR N g
L s
42. frfafed # & =1 Gfagm 99 & I 99 & T8 972 ' f
(1) =TI MW TEEH 2) T USETEE .
(3) 2. gfeasm< (4) WER o { Hﬁ_
P
43, Frotatos § @ # wieks fem i /|
(a) Tova foemem orqe M : \
(b) EE AR GaT A fl
(c) TSI AMEEHR ST %4 'l
() T STEEF AEN "h f: '
BRI T uﬁwaﬁ
1) @O L @ )R () () IR (d) (4) (@) (9 M (d)
i
44, mﬁwuﬁa@ﬁwm&rﬁ@w%mﬁwﬁaﬁ?
(1) wfem . (2) fw () ¥ ()
45. =AY = ZR"HQ';FI Ame | feu U i (2010) # F=fated o 9 fre AfueR 61 7 95H
HT TR ?
(1) wHfE Fief &1 SR
(2;‘ " S SR FeHR H Hufa Tl &1 AfusR
(3)  JEE WHE I I ATUHR
el (IR | ¥ i Tl)
poats |H||H|||\|“||H||H||||\IH|\||\||“|“|H||\||\|||\|H||! 1 Paperi
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46. Arrange the following phases in the evolution of public administration as a discipline in
chronological order using the codes given below :

(a) Ecological approach
(b) Principles approach
(c) Politics-Administration dichotomy

(d) Public Policy approach

Codes : ¢
1) (o) (a), (d), (b) (2) () (b), (d), (a) {
@) (d) (9) (a), (d) 4) (o) (b), (a), (d) \

47. Match List-I with List-II and select the correct answer from codes given below :
List-I <7 Listrn |
’ A
(Books) / (Authors)
(i) [Braibanti
Political and Administrative Development  (ii) ' Ferrel Heady
(ii

Fred'W. Riggs

(a) Frontiers of Development Administration
)

(
(c) Bureaucracy and Political Development
(

d) Public Administration : A Comparative (1‘{) J. La Palombara
Perspective % J: I

Codes : _14 .
(@ (b) (9 (d)

M) @) @) @) )

2 @) @) - Gv) G |

3) @) <ﬁ,i>.d; (i) (iv)

@ @) @ g 6

48. Which one of the following statements about systems approach to organisation is not
correct ?

(1) Itis derived from one general systems theory

(2)|'% It leads to certain fundamental principles of organisation

(3) - It studies the organisation as a whole in relation to its environment
(4)

4) It views the organisation and its environment as interdependent for inputs and

resources
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46. 9 QU T e &1 ITANT I gC, UG & €9 H dleh GO o foshe § Freafafaa =2l i @@

FHIcTshH | TSIed

(a) oTifefaenta 3™
(b) THgT SUTH

(c) TSt gemE fgwee

(d) ik ifd amTH

< : .;"‘ .
1 (o) (a), (d), (b) (2)  (9) (b), (d), (a) J f
3)  (b) (0), (a), (d) 4)  (9) (b), (a), (d)

47. iﬁﬁlﬁv}ﬁn@gﬁﬁﬁaﬁmaﬁtﬁﬁqm}ﬁﬁ@WWW%?ﬁ
qeit-1 f | ‘ﬂ?ﬁll
(q& ) / (ﬁ@ﬁ)
() R sitE Tadmie e <‘
( WWWW (i
© ST e Wi S (i)
(d) Tfss Temfee qm&aqﬁﬁﬁw (iv

' s
ii) ﬁn—gmfw
v) . @1 I

@ B (© @,
@ ()0 LGl
(i) (@), '(w) (i)
(i) - i ﬁ() (iv)
(iv) (i) fﬁ) \ G

48. TISH % foIU =gawen UMW & IR # fAefafad § 9 SH-91 Tk S T ol © 2

| e
(1) 15 g e fagia & foen s 7

1)
()
3)
[ @

(2)‘ J I8 TISA & Hiqqd Aifersh fagidl &t 3R & S 2|
(3) e T wY @ YT 1w URAY F Gy § AsAT w2
(4) % TS AR 3G ARG I AN IR HAEAT ok fAC WER i % ®9 H @A B |

rous [N

il n

www.examrace.com



49.

50.
51.

52.

53.

54.

vous [[[HHITHATRANII

In his ‘Principles of administration’, Pfiffner did not include :
(1) Material and supply (2) Functions and powers of local authorities

(3) Methods and procedure (4) Administrative accountability

‘Public Choice Approach’ to public administration came into existence in the :

(1) 1890s 2) 1920s (3) 1940s 4) 19608

4
{
Ip' [
Who has analyzed leadership in terms of ‘circular response” ?
(1) L. Urwick (2) H.Simon (3) C.I Barnard (4) MP Follett
e
1" (
Bomard’s
Which one of the following is not a feature of Barnard’s theory of formal organisation ?
|
(1) General incentives (2) r-"rCOmrhon plurpose
(3) Communications 4) I Willin rfs to cooperate

r
F
-

Which one of the following committees dealt with Lohtlcal activities of civil servants in

Britain ? . -« i

(1) Mastermann Committ_e_eh A (2) Plowden Committee

(3)  Assheton Committee (4) Northcote-Trevelyan Committee

{ |
Consider the following statements and choose the correct answer using the codes given
below : 4 *

a) Performanc buageting system

o The Civil Services g(eform Act 1978 of the United States of America introduced :

)
b) Merit pay provision for middle managerial personnel

PerformanLe appraisal system

(
®
(©)
(d;‘ ; Office of Personnel Management

Codesp:

(1) (@), (c) and (d) (2) (b)and (d) (3) (), (c)and (d) (4) (a)and (d)

N
N
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49. TYER T oA Tufducy ot Tefteym’ o fefafead § 9 feaes! wiha T8 foan ?
(1) | SR emyfd (2) TR WiEREr & wr SR wfwar

3) it o ufsan (4) TRIEE SerereEl

50. <l A & ‘Ufscter =gy woE’ Ry <vie O eAfe § o ?

I:;
(1) 1890 T 9k (2) 1920 1 T (3) 1940 FI WH  (4) 1960.7 ?"w

{
51. o g o faveroo ' ggher Y|’ & w9 H fHan g2

(1) Td Rfa® ) TH. R (3) ﬁmm@ A(4) THT. W
L 5 E

52. ﬁmﬁrﬁ@aﬁ@ﬁ?ﬁm@m%aﬁﬁ{ﬁ%maﬁmﬁ%?

(1) W= 3o (2) | SIS
(3) WUR (4) FEEM aﬁ@
4  sadd
53. W@ﬁ@ﬁﬁﬂﬁﬁ%&dﬁwﬁaﬁmﬁﬁlﬁfwﬁﬁwﬁ?
(1) e |t M @) e

(3) TRRA WiHf (4) ATefemre-gerera wfHfa
!{ J
54, W@amﬁmﬁwﬁ%amﬁﬁm@mﬂnmvﬁwwwﬁﬁw
Wﬂmaﬁﬁ%%wﬁqﬁ@mgwwﬁﬁﬁﬂﬂlwsﬁwm:
(@) Frome el
(b) AT FaAtS SHITHeRI o TAT AFIar oad 1 T
(c) Troares e yomeft
(), T Faier w1 Frer
Tz,
1) (@ @3N @ (bR B (), @M @) ()R
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55.

56.

57.

58.

(b)  Administrative Courts

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Choose the correct answer using the codes given below :

Assertion (A) : “Henri Fayol identified five elements as the primary functions of
management activity.”

Reason (R) : According to Henri Fayol, “knowledge of administration is needed at higher
levels of an organisation, rather than technical knowledge.”

Codes : ]

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) ¢

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A) ..r‘;

)
(3) (A) is true, but (R) is false [ r
)

(4) (A) is false, but (R) is true

r

Functional specialization in the Indian Administrative service Was r?commended by :

(1) First Administrative Reforms Commissio;p«’ #
(2) Satish Chandra Committee ..'f |
(3) Appleby Report | ! _fl
(4) Sarkaria Commission \ ‘/

‘Delegated legislation” is not :

& -
«f D>
(3)  Ordinance making power; < (4)

(1) Subordinate legislation Executive legislation

Rule making power
Match List-I with List-II and choose the correct answer using the codes given below :
Listel List-1I

(Citizen’s grievance{ redressal) (Countries)
(a) Procura,to;l system i)  France
ii) Russia
(c) Ombudsm
(d) Parliamentary commissioner
Codes :

@ () ' (@

iii) Britain

iv) Sweden

@@ @ @ o
@ @) @) Gv) ()
@) O @) (v) ()
@ ) @) Gv) ()

roass |10 AITANNN .
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55.

56.

57.

58.

= < e fau U €, U 1 AT (A) 3R T FI ek (R) Fel TR | A= U T e 1 y@m
FFE W gAY
afirere (A) : ' WiEE 3 YelEH Tdfafy % TH@ S % ®9 H 9" qol |1 Ig= &
ek (R) : e Tiad o STIHR ' fRdt He & I W Th-Aie! I i STHE YmEs
M T STEvFhar gt g1
%< :
(1) (A) 3R (R) IH A ¥ 3R (R), (A) FT T&l TTEH T | {
2) (A) 3R (R) I T § T (R), (A) BT TE L TE T i .
(B) (A) @ T, T (R) 9 | f f
(4) (A) A T, T (R) T T
T SR S i fr 7 faw fefaad 4 8 frg g w1 o
(1) 999 TRMEiE GUR ST A 1
(2) e =g gfafa ' 4R ."
(3) uerst R /
(4) I S ‘ d’ﬂ
RESACEICE R N (
(1) arefieer faeme « /) @
(3) eemmam wiutm A (4) e s w1 wfE
A1 T 1 Gell-11 @ gAferd 3 o = T ¢ %2 1 ST 3d gu /e S g
giﬁ‘-ll ( Tei-11
(mTies RreRtaa fHamoT ) (3971)
a) - TR quTed (i) @
R USIEED | (i) ®H
) SrEEEHT | (iii) fored
d) HuSE AgH (iv) w@req
2 |
L@ ®© @
(D% i) () Gv) @)
2 =@ @O (v) ()
@) @ @) (@v) (i)
@ @O G @v) (i)
rozss [ HNINRANN .
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59.

60.

61.

62.

63.

The system of Efficiency Rating for scientifically assessing the performance of public officials
for promotion first originated in :

(1) China (2) Japan (3) U.S.A. (4) UK.

Ashok Mehta Committee in 1977 recommended for the establishment of :
(1) Nagar Panchayat (2) Panchayat Samiti ¢

(3) Maha Panchayat (4) Mandal Panchayat {

Who among the following is associated with the concept of Realistic Liberalism ?

[
(1) EH. Carr (2) Robert Byrd (3) . George Kennan {(4) John Herz

-
|
F§ i
f | /
Bachract and Baratz have mentioned about the thiee classes of International Relations to
control the conduct of states. Which of the followirr;k are the three classes ?

(a) Influence Relationship (b) Force Rela}_tigns,l{ip

(c) Legitimate Relationship . “(d) Power ﬁelationship

Select the correct answer fron} tqi?é €odes given below :

(1) ), (@and(d) 2 (@), (and(d) (@) (@ (and®) *) () () and ()

{ -
Which one of the followiné books was written by E.H. Carr ?

(1) . The opengsociety and its enemies

/ (2) Twenty yeﬁfs Crisis

(3) Political Realism and Political Idealism

(4) = The Realitiles of American Foreign Policy

64. Frarlfrts Faron was the first scholar to use the term “Third World”. To which country he
belonged ?
(1) France (2) England (3) Algeria (4) Egypt
e 2 Papec1
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59.

60.

61.

62.

63.

64.

vous [[HHITHATR RN

(

Y=t o fore fier stferentfEl o wrl-freared =61 Sfeh €9 9 qodiwd w & fau garar ®R
THRT T qoTedt <1 SgwE g3 ¢

1) ==d (2) SUEH (G) JTETH 4) I* d

1977 § 319k Hear afffa 3 fFefafea § 9 feget waraar =t fawiier =t o ?
(1) R 9=mad (2) A "Afd

(3) HEI q=Ed (4) Hed gEEd

frefafea 8 & &1 aaefard) TRAER &t HhedT d Fag 7 0
(1) ima FR Q) R A (;)4, S e ) weE
p |

£ 1 |
R SR A A T % 0 W FE0 3§ o sigude del % 7 o 5 seerd T 2
freAfafed # @ #F @ o o §2 ‘j

(a) W oy O T A g

(c) o9 Fay -

.ﬂ{{ (d) wfw Gelg

A fog T e F & FE S B F I -

(1) () ©IE @ @, @I @) (@ ©3INE) @ O) (@ IR()
!{ J{

3. #R A fefafed § @ 0 @ 7w faet 872

1) T s SRR T s2g TR

@) e e

(38) e fufasn g difadwa awfeufan

@) = Rferis|eifw iR wie wier

I'-.

e o 3 el T o e T vl QT e o W v o o e 2w 812

(1) W™ 2) Iie (3)  STeSifE @) f=

N
N
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65. Which of the following pairs is not correctly matched ?
Author Book
(1) William C. Olson : The Growth of a Discipline
(2) G.F. Kennan : American Diplomacy
(3) Russel H. Fifield : The Introductory Course in International Relations
(4) Robert Strausz-Hupe : Intenational Relations : A General Theoi-'y:
and Stefan Possony ..r‘; '
f r
66. Who condemned Non-alignment as a selfish policy ? | {
(1) Morgenthau (2) William ]ohnstor],e g !
(3) Schwarzenberger E/%Ward C‘;rankshaw ;
."r - 'I
67. Who among the following are supporters of Realistic Alﬁproach in International Politics ?
(a) Couloumbis and Wolfe (b) Fredrill%chuman
(c) Nicholas spykman (d) E.H. Catre= £
Select the correct answer from the CR’:ies given below:
1) () (©and (@ (2 a,) (Of%nd @) () @), (B)and (@) @) (@), (b) and ()
68. Who among the following} had declared that arms race in itself is experience of terror ?
(1) Hadley Bull { | (2) Arnold Toynbee
(3) Kenneth Boulding (4) Lynn Miller
|
/ 4
69.1 Which of the fQPloWing countries was a part of recently concluded P5+1 Nuclear
Argument ?
(1) _Japan | (2) Australia (3) India (4) Germany
|
70. Wﬁd&h of the following is not a form of National Power ?
(1) ~ Secial Power (2) Military Power
(3)  Psychological Power (4) Economic Power
|| 2 papeca
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71. Which of the following countries is not a member of SAARC ?
(1) Maldives (2) Myanmar (3) Nepal (4) Afghanistan

72.  Which of the following scholars of International Politics did not subscribe to this view that
no social science can survive without idealistic aspects ?

(1) Herbert Butterfield (2) E.H. Carr ]
(3) Reinhold Niebuhr (4) Arnold Wolters \
73.  Which of the following is also called as Total Disarmament ? f f
(1) Qualitative Disarmament (2) Quantitative Disarmament
(3) General Disarmament (4) Comprehensive Disarmament !
- \ (
*
74. Who stated that, “International Politics includeés analysis pf political relations and problems
of peace among nations” ? f . /
| In'
(1) Charles Scheichar ) | Norrj:;'adelford
(3) Harold Sprout 4) H.J. genthau
— "f
A (
75. Which member State of ASEAN{la(}‘l’ joined this regional organisation in 1999 ?
(1) Laos (2) Mygnrdhar (3) Combodia (4) Vietnam
. ; -00o0-
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